
 

 

 

                            実施日   月    日   曜日 

次の計算をしましょう。 

 

(1) 5² 

＝5×5 

＝25 

 

 

(4) －7² 

＝－7×7 

＝－49 

 

 

(7) (－10)³ 

＝(－10)×(－10)×(－10) 

＝－1000 

 

 

(10) －11² 

＝－11×11 

＝－121 

 

 

(13) ( 
１

２
 )² 

＝( 
１

２
 ) × ( 

１

２
 )  

＝
１

４
 

 

 

 

(16) 1⁵³ 

=1 

 

(2) 3³ 

＝3×3×3 

＝27 

 

 

(5) －3² 

＝－3×3 

＝－9 

 

 

(8) (－4³) 

＝－4×4×4 

＝－64 

 

 

(11) (－0.5)² 

＝(－0.5)×(－0.5) 

＝0.25 

 

 

(14) ( −
１

３
 )³ 

＝(−
１

３
)×(−

１

３
)×(−

１

３
) 

＝−
１

９
 

 

 

 

(17) －1²¹⁷ 

=－1 

 

(3) 2⁵ 

＝2×2×2×2×2 

＝32 

 

 

(6) (－6)² 

＝(－6)×(－6) 

＝36 

 

 

(9) (－8²) 

＝－8×8 

＝－64 

 

 

(12) (－5³) 

＝－5×5×5 

＝－125 

 

 

(15) (− 
５

６
 )² 

＝(− 
５

６
 ) × (− 

５

６
 ) 

＝
２５

３６
 

 

 

 

(18) (－1)⁵²⁹ 

＝－1 

 


